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190 3GHE BCH) 668D cMO
1.1 BO08 cBdmow (4)

1.2 e®® ©OEed 71 » DB O el amoime B3 T4 » Dib8m DG el emsimes
@R BOCE Be Gue.

1 Obsws §c 2 Obss 3 Obses ... 10 Db 10 &bzws a®
f I I I I | S

15000 15000 15000 15000

S=ARR"-1) s» g 050 o9,
£

@®8 A =15000;1°=7%=0.07;, R=1+r=1+0.07=1.07;n=0

S =15000 x 1.07 X [(1.07)" - 1]
0.07
Gt 221,754/-

BOG8 cBmoe (2)

AAl/QMB OBIN0 BT SOIINTOD DO



1.3 BHD LB DD T
rooo= Exy - (20) (Ey)
\/[nZX - (£x)°] [nZy’ - (Zy)’]
5(1159.7) - (311) (18.6)
\/[5(19359) - (311)°] [5(69.82) - (18.6)°]
13.59/15.2434
09119

._g
I

._g
Il

B0 cdmdn (1)
DG DOWLS : e BBDG eregds’

X X P(X:x)

= (7.5 %0.10) (7.80 x 0.22) + (8 x 0.26) (8.6 x 0.20) +
(8.8 x0.15)+ (9.5 x0.07)

= 8.251%

= 8.25 (c@®sm 2 »9)

1.4 2ess8n el erysIma

BOG8 cBdmow (4)

1.5 B0 eoqenms, CV=S/x
e®8 x=2x/n =50/4 =125

n

—
[\
(9]
~
(9]

25

5

Cv=5/125 =04
HO08 cmds (3)

1.6 2200 DO 8 @O e HOG
BO08 cBmow (4)

1.7 8 0@ 8¢ edSemes = X(p, / p,) W
CIw
=(120 x 16) + (80 x 25) + (160 x 15) + (75 x 12) + (220 % 20)
(16 +25+ 15+ 12 +20)

=11620/88

=132.045

=132.04 (¢c@®ed» 2 »0)
BOoe c¥mdn (2)
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1.8 P > V,; Q »-U; R —» T
BoOoe c¥mon (2)

1.9 g8, (BOEBGS @ gnd e BRE OB B®RBDGS.)

1.10 2258, (EES 86 D eeBDBnr 880k D18Dm @18sY)

1.11 a8, (8 ebed y asimentds - 200 8s e .)

1.12 w28,

1.13 .

1.14 Do oty (CDe® ©®WIDmDE = gty WCOD DD O / GO Diwm O

6+11+x =0.03
600
17 +x =18
X =1
1.15 6+11+1+194+y+197 =600
y =600 - 409
y =191

1.16 Doy sty ¢de® 8(dn A eces ¢, du 8wl Dinmwes Se® 8¢0s B ege ¢ weng.
P(B|A) PBNA)
P(A)
6/ 600

(6+11+1)/600
= 6/18
= 173
= 0.33

A eon0ees gdeIne.
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BeE® YEDORO ¢Fd pesS8ma.
(§° cae 32)
2 O SHNG SCH) 66ISH MO

(@ 18+21+x+30+24+20+14 = 150
= 150 - 127
X = 23
@I DICS B¢ Ao | s gos (X) U=x-A fUu fu?
(e573) o () C
501-600 18 550.5 -300 -5400 1,620,000
601-700 21 650.5 -200 -4200 840,000
701-800 23 750.5 -100 -2300 230,000
801-900 30 Q50D A 0 0 0
901-1000 24 950.5 +100 2400 240,000
1001-1100 20 1050.5 +200 4000 800,000
1101-1200 14 1150.5 +300 4200 1,260,000
>f=150 (1300) 4,990,000
®smB®@, X = A +[ ZfU7x C
=
= 850.5 +(-13/150) x 100
X = 841.83 (c@® & 220)
800D auvo®ma, S = C >\</[ZfU2 -(ZfU) 2]
st \ 3f
S = 100 ><‘/(499/150)-(-13/150)2

= 182.19 (c@®e0» e¢mmO)

UL W JOEBEE DB = (4,990,000 / 150) - (-1,300 / 150)?
= 33,191.56
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(b) 1 =
1 92 DWGEBG : gEoBm @b
! 2 3 4 :

1 1 1 1 1
84000 78000 72000 66000 63000

008 ImEoed gL @i gos NPV, eces 05@.

NPV, = 84000 x 0.943 + 78000 % 0.890 + 72000 x 0.840 + 66000 x 0.792 + 63000 x 0.747
DOO® 3002 DREDLS ERIOD GE.
NPV = o 308,445/-

1

2 0 DWEBGE : CWE T

| ¢ p ¢ P

1 1 I 1 1
73000 73000 73000 73000 73000

000 SmcCuved @il On@i» gows NPV, eces o5@.

NPV, =73000 X e2808» D00® e (5, 62)
(e®u DB DO0® LD FRES DREDS ERNIOD GE.)
NPV, =73000 x 4.212
=&t 307,476/-

. ewelidh wewr DR e OB3es 2 O SwEsad.

2 »Ow
e 1 2 3 4 5

GCOB®™ @ - 1 9 DG

GIBWHES 60,000 60,000 60,000 60,000] 60,000

@sBw 24,000 18,000| 12,000 6,000 3,000

84,000 ( 78,000 72,000| 66,000 63,000

0.943 0.890 0.840 0.792 0.747

308,445 79,212 69,420 60,480 52,272 47,061

2 9 IWwEB@

CEE @B - sy endDO 73,000 73,000 73,000 73,000] 73,000
0.943 0.890 0.840 0.792 0.747

307,476 68,839 64,970 61,320 57,816 54,531

S O ey OTtess 2 O DwGuad.

AAl/QMB OBIN0 BT SOIINTOD DO



3 O gBNG BEW) 66IED RO

@ 1»0cs
Bdeocsy 881w C(x) =75000+ 100x - 0.03x> + 0.000004x*
LastBm 860w Gos, MC  =d [C ]
dx
MC =100 -0.03(2x) + 0.000004 (3x?)
=100 - 0.06x + 0.000012x>
Ce® Bvw, P(x) =200-0.005x
S @060s® Bovas R(x) =200x-0.005x%[..R(x) =P(x) x x]
L. B3 as® o, MR = d [R(x)]
dx

MR 200 - 0.005(2x)

MR  =200-0.01x
G B = 0c® o - 8801 e -  Px) =Rx)-C(x)

P(x) =(200x - 0.005x?) - (75000 + 100x - 0.03x* + 0.000004x>)
200x - 0.005x? - 75000 - 100x + 0.03x* - 0.000004x*

P(x) =-0.000004x3+ 0.025x>+ 100x - 75000
238 0 o MP = d [P(X)]
dx

= -0.000004(3x2) + 0.025(2x) + 100(1)
=-000012x2 + 0.05x + 100

2 nOG

20¢00® (RX) &3 oo (PX)&»;

R(x) =x(200 - 0.005x%) =200x - 0.005X? ....ooverererrnens @8

P(x) =200x - 0.005x* - (75,000 + 100x - 0.03x> + 0.000004x*)
=-75,000 + 100x + 0.025x* - 0.000004%> .......ccerveuennene 2)

2538 Fo;

C'(x) =100 0.06x | 0.000012x>

R'(x) =200-0.01x

P'(x) =100 + 0.05x - 0.000012x>

(b) A BZedmed Somwan 8e O X ¢, B B8dui@ned Jnwem 8@ o y ¢ ecen ©5§.
&80, 5x +8y =350 .......... (1)
X =y+5 s 2)
(1) 8 (2) precn SBe®s,
5(y+5)+8y =350

Sy+25+8y = 350
13y = 325
P = St 25
(2) 8 aeds B8e®s3;
P =25+5
=o¢. 30
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(a) S BBum
25 |:| DR
|:| 020305
20 I:l 28285®w
- e ©3®I1vd
15 - ecln v 9ZR5®
- D558
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| 11
aoeaidm@
(b) | @reciss dbows Jt. 8Gu» | @oa® @ gBamae
e 12 54° 15%
2920908302 18 81° 22.5%
IS RIEIe1O 22 99° 27.5%
ges ©8@Ind® 8 36° 10%
ecln v 92R5® 9 40.5=40° 11.25%
D53 11 49.5 =50° 13.75%
OO 80 36° 100%
I:l AP
|:| &0HIT0Bd
I:l 2829583
11% - ges ©8@0d®
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N0 BCe SIENTOD DO



(b) I=0c¢ 10,000

1 2 3

(1) =G 86e0® & 93mm®, A =P +1)
=10,000 (1 + 3 x 0.05)
=g 11,500

(ii) @O el =P (1+r)"-10,000
=10,000 (1 + 0.05)* - 10,000
=11,576.25 - 10,000
=o¢. 1,576.25

(iii) =9 o=@ amwime, ERI =1+ -1
= (1+0.052)- 1
=(1.025)-1
=0.0506
=5.06%

5 9o 366G 6e®) 668D cmé

obsw SteloNd)
Q1 Q2 Q3 Q4
2010 - - 0.99 1.25
2011 0.86 0.88 1.02 1.03
2012 1.00 0.93 1.00 1.13
2013 0.93 0.92 1.05 1.10
2014 0.92 0.96 - -
St 3.71 3.69 4.06 4.51
0@y 0.9275 0.9225 1.015 1.1275 3.9925
0.9275 x 4 0.9225 x 4 1.015 x4 1.1275 x 4
3.9925 3.9925 3.9925 3.9925
0.9292 0.9242 1.0169 1.1296 3.9999 ~ 4
s cbom 93% 92% 102% 113% 400%

B emn0ee® gdeirnd.
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(80 cnea 28)

6 O SHNG SCH®) 66IED MO

(@)

2062 Obzed g@ien 9»dm O H8D 1o BE duwe vemms [S5® ot

Jomem 8¢ (9t) S e5® Pq, Pq,

2850w 2014 2015 2014 2015
Bo0s35 850 1150 1100 9801 1,265,000 935,000
e’ 600 610 500 500 305,000 300,000
cd 450 350 1400 1650 490,000 630,000
2,060,000 | 1,865,000
08 @10 B Bams = 2P q, * 100
2Py,
= 2,060,000 x 100
1,865,000
= 110.46% Q 110.45%
(b) evveasmo e exiBme (IRR) omens S5

letZIe 8¢ yone 2000 we 9ec D000 we §¢G

g (10%) e (20%)
0 -50,000.00 -50,000.00 -50,000.00
1 15,000.00 13,636.36 12,500.00
2 20,000.00 16,528.93 13,888.89
3 25,000.00 18,782.87 14,467.59
4 18,000.00 12,294.24 8,680.56
@l D@ avwn 11,242.40 -462.96

e®® DYDY veH DRed eIV O emd 104 B 88D O verms B @853 A YL
Om@m avwzs (NPV) ¢, 207 508 88016 On oenma S50 0853 cuer @ll dm®i» oz
¢ G @c. DORN W wH e REL DU vk’ ©®8x53 (IRR) avsslims S amesiBmes

DWDE DE DD,

a.9.¢. (IRR)

N2r1 - NIrZ

N2_N1
-474 x 15-4916 x 20

-474-4916

-105430

- 5390
19.56%
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(©) (i) Eos 8BS = 120,000 + 175,000 + 500,000 + 105,000
= 5t 900,000
Bocs 880w = 10000Q + 1000Q?
~. udisl @& 869 &mw, TCF = 1000Q? + 10000Q + 900,000

(i) o® se sed ¢1cs® Bms EIOSE.
g3 aocos®, TR = Jomem 8 X o 0w
TR = (-1000Q + 120,000) x Q
=-1000Q? + 120,000Q

20Deder ePes wewr TC = TR 88e®x3
1000Q* + 10000Q + 900,000  =-1000Q* + 120000Q
2000Q? - 110,000Q + 900,000 =0
+2000, Q?*-55Q +450 =0
(Q-10)(Q-45) =0
Q=100 Q=45
0® a0 @18» ©EdDeder y@Iemwsd 10 ww 45 @d.

(i) eoww P =TR-TC
P = (-1000Q* + 120000Q) - (1000Q?* + 10000Q + 900,000)
P =-2000Q? + 110000Q - 900,000

dP / dQ = -2000(2Q) + 110000 x 1 - 0
— -4000Q + 110000

dP/dQ =080,
~4000Q + 110000 = 0
110000 = 4000Q

Q=275

d’P / dQ? =-4000 x 1 + 0 =-4000
Q =27.5%8,

d’P /dQ? =-4000<0

S Q =217.5 ceBons.

S s b mm y@rens =28 (e gben e3021000)
O c8® @DeE%d0 axnd 8E ewd®d Q =27.5 9Ee® B8mewx8 medn S8e®3,
8e =-1000 (27.5) + 120000
=t 92,500

C etmOees® gdeINCs.
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Notice :

These answers complied and issued by the Education and Training Division of AAT Sri Lanka
constitute part and parcel of study material for AAT students.

These should be understood as Suggested Answers to question set at AAT Examinations and should
not be construed as the “Only” answers, or, for that matter even as “Model Answers”.

The fundamental objective of this publication is to add completeness to its series of study texts,
designs especially for the benefit of those students who are engaged in self-studies. These are
intended to assist them with the exploration of the relevant subject matter and further enhance their

understanding as well as stay relevant in the art of answering questions at examination level.

© 2014 by the Association of Accounting Technicians of Sri Lanka (AAT Sri Lanka)
All rights reserved. No part of this document may be reproduced or transmitted in any form or by
any means, electronic, mechanical, photocopying, recording or otherwise without prior written

permission of the Association of Accounting Technicians of Sri Lanka (AAT Sri Lanka)
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